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IEER B EF(NY) 63,500 221,920 158,420
= 63,500
308 AXIMSO0IA 63,500 221,920 158,420
= 63,500
01 AXEN B2 LS 63,500 221,920 158,420
OEEhr B=k 53 63,500
= 63,500
EASH IHEEL S&IIE SH(XI) 100,000 200,000 100,000
= 100,000
403 AXIEMSA=201d 100,000 200,000 100,000
= 100,000
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2A:
X XH -
o e

=aak

=)/
=l E)| S

oHoTT

MII=ESArE X

SA - ZE . BR() - HRAR - BES of v G o HIDE2

01 AXISHHA =22 & 100,000 200,000 100,000
OBASE IHE2L 24(8 = 100,000
= 100,000

s goils LHbI(RY) 1,044,000 1,007,000 37,000
= 1,044,000

308 AtXIEHMSOIE 1,044,000 1,007,000 37,000
= 1,044,000

01 XN B2 LS 1,044,000 1,007,000 37,000
Os#= golls 2| 1,044,000
= 1,044,000

s dois dda 28 N (HE) 16,000 16,000 0
= 4,800
== 11,200

201 Ler23| 16,000 16,000 0
= 4,800
< 11,200

01 AtR2t2lHI 16,000 16,000 0
Os&= dolls da 24| 16,000
= 4,800
= 11,200

s&E gois dga 28 N (KY) 55,200 92,000 136,800
= 55,200

308 AXIHSOIA 55,200 92,000 /36,800
= 55,200

01 XN B2 LS 55,200 92,000 /36,800
OddliE oEgx At 2E 56,200
= 55,200

sAE Holls 22X 2% NJ(X) 16,570 25,950 10,380
= 15,570

308 AHXIEMSOIE 15,570 25,950 10,380
= 16,570

01 XN B2 LS 15,570 25,950 10,380
Odgdlis 2L =29 15,570
= 15,570

gois LN 22025, E) 141,000 141,000 0
= 70,500
== 70,500

101 @124H| 60,460 59,194 1,266
= 30,230
< 30,230

04 JIZtNZ22 NS+ 60,460 59,194 1,266
Ogaisgd:R Ex0IR 45,984
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FA s8II=3
B selsE)|SKE
el ADISESARAIY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 22,992
=S 22,992
O¢xt==g 1,420
= 710
< 710
@r=] 2,940
= 1,470
= 1,470
OE &=l 3,710
= 1,855
== 1,855
(@)=E<E == 5,406
= 2,703
= 2,703
Odai=S0&E =0l 1,000
= 500
= 500
201 er23| 55,540 61,806 A\6,266
= 27,770
< 27,770
01 AtR2t2|HI 49,540 54,306 N4,766
OdgoliE & g dlE 24,200
= 12,100
= 12,100
Ogais LM 23] 25,340
= 12,670
S 12,670
02 s5=34l 6,000 7,500 1,500
OZSitg &9l 4,500
= 2,250
== 2,250
O8RS 1,500
= 750
= 750
202 04l 25,000 20,000 5,000
= 12,500
== 12,500
01 =LHAHI 25,000 20,000 5,000
Ogais HZLNet 24 25,000
= 12,500
< 12,500
gollE oZLHe 2 (Xd) 564,000 540,500 23,500
= 564,000
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FA s8II=3
B selsE)|SKE
el ADISESARAIY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 564,000 540,500 23,500
= 564,000
01 AXEH B EES 564,000 540,500 23,500
O=Jr2elgalis M 24 564,000
= 564,000
SHUM SAEAS () 3,750,000 6,250,000 /2,500,000
= 3,000,000
= 750,000
301 22N = 3,750,000 6,250,000 22,500,000
= 3,000,000
= 750,000
14 JIEt2 8= 3,750,000 6,250,000 22,500,000
OSHIAN 4243 3,750,000
= 3,000,000
== 750,000
DAY MER AN HMOH(EE) 625,000 550,000 75,000
= 500,000
= 125,000
301 EetE NS 625,000 550,000 75,000
= 500,000
= 125,000
14 JIEt2 8= 625,000 550,000 75,000
Olt==stad MHA AFE JIA 625,000
= 500,000
S 125,000
AsR4tE oMKl X3 (KE) 462,400 0 462,400
= 462,400
308 AFAIEHMSOIE 462,400 0 462,400
= 462,400
01 HAHHBSEEXS 462,400 0 462,400
Ogs=2aE ehEXel X (XY) 462,400
= 462,400
SAUAXEN 0l#HEFE EQB A XI&(XIR) 55,670 56,440 ATT0
) 55,670
308 XXM SOIA 55,670 56,440 ATT0
Jl 55,670
01 HASHHBSEXS 55,670 56,440 ATT0
OSAXEM OIHHH ELH A X2 55,670
Il 55,670
XA &AG RSB AL (HEAY) 1,362,000 1,457,000 105,000
403 MR HHMSAHE01H 1,352,000 1,457,000 105,000
01 HXIHHA 22 1,352,000 1,457,000 105,000
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FA s8II=3
3 sgsEJ=NE
ol sEYEEEE N2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o2ty & A8 O8Iz o33 AlY 35,000
= 35,000
sSEIRIED|I =X (SEMHE, XR) 210,000 210,000 0
= 210,000
403 AXIEHMSA=Z0l1d 210,000 210,000 0
[ 210,000
01 AXISHHA =2 £ 210,000 210,000 0
OsZ&s 453 28 25 210,000
= 210,000
=%t AEE IRsE HERY SE(XY) 24,000 24,000 0
s 24,000
403 AXIEHHSAH=Z01d 24,000 24,000 0
[ 24,000
01 AXISHHA 22 £ 24,000 24,000 0
O=21 %&E I=sd HER2E |4 24,000
= 24,000
L4 018 MBS JIsUR(=ENE, XH) 28,800 26,700 2,100
= 19,200
== 9,600
308 AHXIEMSOIH 28,800 26,700 2,100
= 19,200
< 9,600
01 HAHHBSEEXS 28,800 26,700 2,100
Lol IISAME 2EMRUS 15,300
= 10,200
= 5,100
Ottst R 2= 13,500
= 9,000
=S 4,500
A2 EE otdze| AFEAE(sENE XIY) 150,000 100,000 50,000
= 150,000
403 THXI M SAH=01H 150,000 100,000 50,000
= 150,000
01 MXIHHA 22 150,000 100,000 50,000
OX=E SEE otd 2| 4dAE 180,000
= 150,000
S0l oHMAA AAS XY (SEXE, HE) 6,000 0 6,000
= 3,000
= 3,000
201 ger=3| 3,000 0 3,000
= 1,500
= 1,500




FA s8II=3
3 sgsEJ=NE
ol sEYEEEE N2 (St &)
SA - B BRA(SH) - HRA - of v G o HIDE2
03 Ar=EHI 3,000 0 3,000
Osgol oHEzIE 948 L =T 0l 2
= 2,000
= 1,000
< 1,000
OsHgetd Mg 29 1,000
= 500
= 500
301 EtE NS 3,000 0 3,000
= 1,500
== 1,500
11 dAMEBIXIZE S 3,000 0 3,000
OS0! oHF2IE 28 U HETHE 6l 2
= o4 2,000
= 1,000
S 1,000
OsHUMMTHHNH L 22 28 SIIE2L 1,000
= 500
= 500
S0l oHMAA AAS X (SEXE, XIY) 24,000 0 24,000
= 24,000
308 AFAIEHMSOIE 24,000 0 24,000
= 24,000
01 HAHHBAEES 24,000 0 24,000
O=gPol QA AU} 24,000
= 24,000
SHESEINSIN=XY (SEXE XY) 200,000 0 200,000
= 200,000
403 AXIEHHSA=201H 200,000 0 200,000
= 200,000
01 HXIHHA 22 200,000 0 200,000
Osdte E3 J1=X3 200,000
[ 200,000
sHSIHBIIsES(sEME, XY) 60,000 60,000 0
= 60,000
308 XXM SOIA 60,000 60,000 0
s 60,000
01 HASHHBSEXS 60,000 60,000 0
OsdtE Ji871s &3t 60,000
[ 60,000
SE H24 SXAE AY(HEAY) 275,000 275,000 0
403 AXIEtMSAH=01d 275,000 275,000
01 MXIHHA 22X 275,000 275,000
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21,500
21,500
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A2,500

HMEE
Ofl &k2h
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6,69%
6,6%6
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SN SIS
3 sgsEJ=NE
ol sEYEEEE N2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 8,000 0 8,000
OXrsgdus & 8528 424 8,000
sSEHEESS MIISES(XY) 242,400 282,150 139,750
308 AXIHS0IA 144,300 199,350 /55,080
01 HRHHBSEELS 144,300 199,350 55,050
Os&0d8 82Uz 158 XN& 72,000
OsEdEAt s5HE X 13,800
OsZEussd g4d3t X2 8,100
OsAs4d AS5t 0BIE NI 8,400
OsgIIAl JIgt HIE Al23 W= 9,000
OsdE JI8J|l2 28 o433 53 MY 18,000
OSAE JIBAY 202 BZ0IZ T2
el 9,000
SENLXEX cHelH 6,000
403 AXIEHMSAH=0ld 98,100 82,800 15,300
01 A= 2L 98,100 82,800 15,300
Os&0d =75 Y s~ Fdl N3 33,000
Os&:s MEsd |54 12,600
Oxlrsg s N 12,600
OXls=sgY Z208 =23 AlY 8,400
OsIte I8 o33 &g Jl=s K& 31,500
HY2H LU (sYII=H) 13,826,846 13,782,477 44,369
= 71,868
=S 13,754,978
el 2| 13,489,317 13,411,902 77,415
= 71,868
< 13,417,449
el 2d| 13,381,131 13,311,043 70,088
101 @124H| 13,085,127 12,931,259 163,868
01 &2 10,236,807 10,067,614 169,193
oJlzs 7,302,583
- LA (ASH) 370,069
= 8,750,270 x2&«12& 210,007
o= 6,669,210 x2H 122 160,062
- X=2(HEH) 2,390,055
o2 7,954,940« 178~ 128 1,622,808
- N2 7,104,130 x90F «12& 767,247
- 2EE(SSH) 966,989
6= 4,627, 2808 128+ 123 666,329
= 3,032,850 x6H 123 218,366
8= 2,191,810 «3F 122 78,906
92 1,949,000 x1E 12 23,388
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SN selEs
M HAHRAZH|(sHIIER)
ciel: olte )
RA - BH - SHIEN) - HRAY - BAS ol &t A
A A 2,608,502
A LA 3,506,050 «62H « 122 2,608,502
NS 946,968
KIS At 3,156,500 «25H~ 12 946,968
od2=g 330,770
(GRS 532,708
- E2=E0Ht= 87,000
253012 130,000& x16H 122 24,960
- 20404 110,000& x12F 123 15,840
154014 80,0003 »14H 128 13,440
102014 60,0002 +23H « 122 16,560
55014 50,0003 *27H+ 122 16,200
-HRSREE 57,388
2eHx (62)
4,604, 00081 54, 19%+1%4+ 102 2,276
A (73)
3,808,000 4. 1%+ 1+ 123 1,874
JRG RS 4,158,000& 4. 1%+20H « 122 40,915
NS 3,578,000& 4. 1%/ &+ 12 12,323
-JtE=g 91,560
- BH <Xt 40,0002 +83F « 122 39,840
- HIHAHA 30,0003 x41H 122 14,760
2 PE 70,0003 »29H « 128 24,360
- SURHOI = XHA 10,0003 x 1= 123 1,320
- JIEHS 20,0003 *47B 128 11,280
-=S0t5H+E 1,500,000 x8&* 122 144,000
—-FEga2R+E 40,080
=5 50,0003 625 « 122 37,200
g3 40,000 x62* 122 2,880
-Jlsd=24E 23,760
a2t N2t 60,0003 8L 128 5,760
A=A, K= A 50,0003 »24H 128 14,400
672 30,0002 8~ 122 2,880
892 20,0002 %3~ 122 720
-JIsZEs2(0R3) 9,840
- JI=Ab 50,0003 1 » 128 600
JISE, JIM 30,0003 »22H 122 7,920
- SHADIAL 20,0002 4~ 12E 960
28, ZHl(6~7 10,0002« 1H 122 120
28, ZdI(7-8 20,0003 18 x 128 240
ARHRG 76,920
A A 80,0003 765 122 72,960
se|2 W= 110,000 x32» 122 3,960
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2A: sHII=H
M HAHRAZH|(sHIIER)
el QIEE2E
RA - I BRA(E) - HRA - BES of vy A
-8 X=g 30,0002 +6E * 122 2,160
OFAuZA| 40,0002 14024 128 235,200
OYEEII|
4,784,629,000 / 122 +x60%+23] 478,463
OS2 4t| 195,481
—ASH
2,608,244,0002 /122 +78%x86%+~1/30x 12 58,321
-2 A
4,784,629,000& /122 +80%+1/30% 12 137,160
SE PN 788,462
OZREH|(YE) 63,600
—-4= 400,000 «2H *12& 9,600
-55 250,000 «2H =122 6,000
—6= 185,000 x12& 128 26,640
= 180,000&x62 123 12,960
-89 175,000 x4 » 122 8,400
OZZEXZH(HR, NEH) 309,540
—gR2 X244
500, 0002 %124 122 6,000
ol T BB AY)
400,000 x18E « 12 86,400
- X2 (=4
250,000 «8H * 12& 24,000
—ATALXIEAHBE S 014)
185,000 x87& « 128 193,140
02 JIet& 24 433,012 432,104
OLBHIIM(H L H =) 73,700
-Jl== 5,076,000 «1H*12& 60,912
—-tE=g 840
i EON; 40,0002 x 12+ 122 480
U PUIE] 30,0002 x 1 x 122 360
-x222+E 4,878
-~ HAUZAH| 140,0002 + 1+ 128 1,680
— 2 |
60,912, 0002 / 122 +78%*86%/30e » 12 1,362
= 180,000& x 12 =123 2,160
- eS| 50,000 18 * 122 600
-g¥REs 72,432,000 *1.75% 1,268
OLEHAIIM(AIZHSELR) 73,825
-Jl2s 4,623,000 «1& 128 55,476
-tE=g 1,800
- BH Xt 40,0002 x 1 x 122 480
SOl = Xt 10,0002« 1+ 122 1,320
- 222+ 5,434




S se|Eg
M AHAHHAH(=II=R)
SE RIS CERE)
RA - BH - SHIEN) - HRAY - BAS ol &t A HIDEZ
- NS A 140,000 x 1 * 122 1,680
— 2 |
55,476,000 / 122 «78%+80%+1/302 » 12 1,241
- g2 4| 162,000& x 12+ 123 1,944
— el Esd| 50,0002 1+ 123 600
-S#A2sE 365,000 123 4,380
-8HERE= 72,555,000 1.75% 1,270
ozzzz 285,487
-Jl=2 3,633,000 x4~ 12 174,384
-H244 3,633, 0002 #4 % x45%x23| 13,079
-oiEay 3,360
HH < Xt 40,0003 x4« 123 1,920
JIEDHE 20,0003 6 128 1,440
- LENZ(ZE)
30,000 x1&8* 122 360
-d2+g s 3,840
155 014 80,0003 1 x 128 960
204 0l&t 110,000& x1H« 122 1,320
254 014t 130,000& x1H 122 1,560
- NS A 140,000 x4 * 122 6,720
— 2 aH|
174,384,000 / 12+86%+1/30+ 122 5,000
- &g 2 x| 175,000& x4« 123 8,400
—elEsy| 50,0002 4+ 12E 2,400
-2 F0H| 174,384,000 / 12+60%+*23] 17,439
-ZU22+E 45,594
A2t 224 31,721
OR22+% 13,873
-HEARY= 280,576,000 *1.75% 4,911
03 BRH(RIH L) 22U E > 2,415,308 2,431,541 N 16,233
o= 2,415,308
= 2,713, 4502 *5324 » 122 1,725,755
—oI% - ORF - BYDRAY
15,3073 *150%* 15 A1 2H53EH + 12 219,044
PSS = 15,3073 *BAI 2t 152 x53H 97,353
—HEF0H| 2,713,450 2 «60%+22| *53H 172,576
-S| 50,0002 x53H  12& 31,800
—ZAS4H| 140,000& x53H 123 89,040
Jimag 3,000
- BH Xt 40,0002 +31E«12& 14,880
- AW 30,0002+ 12F 122 4,320
I PE 70,0002 x11&~128 9,240
- AU RHA 110,000& x2&* 123 2,640
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S EASEAD
o WHSAAH|(FHBANT)
ciel: olte )
RA - BH - SHIEN) - HRAY - BAS ol &t A
01 2= 6,270,844 5,642,444
OJlzs 4,421,373
- LA (ASH) 88,730
= 7,394,043« 18128 88,730
- A2 (HSH) 1,306,670
SRG R 7,777, 7943 x14H 128 1,306,670
~YLEE(SZH) 363,980
6= 4,440,900 ~4F 122 213,164
= 2,516,400 «2F 128 €0,3%
8= 2,363,600 2~ 12 56,727
= 1,970,400 x 12 x 122 23,645
RCEEIEL ) 2,672,043
A2A 3,136,200 «718+ 123 2,672,043
ogz2+¢ 136,912
OFSREES] 339,775
-d2=Ehts 34,680
253014 130,000& 8+ 123 12,480
- 2030124 110,000& x2&+ 123 2,640
154014 80,000 x3&* 122 2,880
- 104014 60,0002 x4 x 12 2,880
- 5014 50,0002 23«12 13,800
-UHssRErE 23,335
- L 2,120
- HRE 21,215
=t 45,840
- B Xt 40,0002 +39F « 122 18,720
L PE 30,0002 x21E 128 7,560
- SMAHA 70,0003 ~8E * 122 6,720
- AUIRHOl = XHA 110,000& +7E+12& 9,240
- JIEHS 20,0002 +15F 122 3,600
-S05&+E 99,000
B HARA 99,000
-Ag22+E 51,600
=5 50,0002 +86F <122 51,600
-Jlsd=24g 1,200
672 30,0002 2~ 122 720
895 20,000 =2 * 122 480
-JIEEESE(0HZ) 960
-JISE, IIA 30,0003 1 =128 360
28, 3H|, ALBR(6,72)
10,0002 «1E 128 120
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
=, Hol, A4 B2 (8,92)
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-ggesd 82,560
A A 80,0002 x86E «12& 82,560
- QALY 50,000 x1&* 122 600
Ozxu=z2e=g 566,919
OF A ZAH| 140,0002 x5« 122 159,600
Og &=l
3,025,973,000& / 122 x60%+23] 302,598
OS2 4| 117,947
- HSH
1,395,400,000& / 122 »78%+86%+1/30% 12 31,202
-SSH
3,025,973,000& / 123 »86%+1/30+ 12 86,745
OAZExH|(YEHA) 22,500
-53 250,000 «1H« 122 3,000
—-62 185,000 x4 * 12 8,880
-2 180,000 x2&* 122 4,320
-89 175,000 3+ 122 6,300
OXSEXGI(ARE XEH) 203,220
-AFA(4s4Y) 400,000 =2 *12& 9,600
— IR B (534
250,000« 12« 123 36,000
— A 185,000 x71& 128 157,620
02 JIEtX == 123,299 130,787 AT,488
OLerIN (A &H 2A) 123,299
-Jl== 9,228,463« 1H 122 110,742
- dAZA| 140,0002~ 1+ 122 1,680
—Aot2 &l
9,008, 49521 *78%<86%+ 1/30+ 122 2,477
- EEES 500,000+ 124+ 122 6.000
B RS B
200,000 «1H*12& 2,400
03 SRA(RIH )22 U2+ 251,182 237,884 13,298
OR=AADLSE (AR AT 58,776
-J1=3 3,479,5102 12«12 41,755
— 01, 02 BYDR4AY
19,7013 *150%* 15A1 2+ 18123 5,320
RGPS 19,7013 +8AI2H+ 152 %1 2,365
—g&Sotdl 3,479,510 x60%*22] 18 4,176
- HelESH| 50,000& * 122 600
- dASAH| 140,000« 12& 1,680
- JIEE (X, XM, SM)
140,000& * 12 1,680
—2HIMHS 100,000 * 12 1,200
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SEEPCEEEIEEIERY 41,227
-Jl=2 2,487, 0402112+ 122 29,845
— o1, 02 BYIR Y
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— Xt 14,1423 +BAI 2t 152+ 1H 1,698
- &S0l 2,487,040 «60+22] x1H 2,985
—-egsy| 50,0002 128 600
— NS A 140,000 ~ 128 1,680
- E=YOIEDIE)
20,0003 x1&8* 122 240
—28BH= 30,0002~ 12 360
OLES2H (S AA 39,769
-Jl== 2,260,730« 1& 128 27,129
— o1, 02 RYDR ALY
13, 1433 «150%* 15A1 2E+ 12+ 12 3,549
—Axt==g 13, 1433 +8AI 2+ 152« 1H 1,578
= EE] 2,260, 7303 x60%*22] * 1H 2,713
—eiesy| 50,000& * 128 600
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- I =L (XL HM, S)
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- NS A 140,000 « 122 1,680
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OBANEREX(H=2ZAt) 35,481
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—xt==E 12,0773 58N 2+x152+1H 1,450
- &R 2,053,670 x60m+22]x1H 2,465
-S| 50,000& * 122 600
— NS A 140,000 « 122 1,680
—-Flg=E 50,000& * 128 600
=P = 25,0002~ 128 300
- IIESEOIEDIE) 40,0003 * 123 480
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